x of] 3t oha}4] 3x3y 4 by —xz+ 9xy — 4 ol thsto] o B 5
?

O WEA o2 st
3yx® + (9y — z)x + 5y — 4 °|th,
© o820z Helshy
5y — 4+ (9y — z)x + 3yx3 o]t}
© o140 chAle x of B 3 Ao,

@ »* 9o AgE 30t

ORONGE) 20,606
® 0,0 @®O9,06,6,06
® ,0,0,3, 0

Q O
—C



N

5 o4 A, BO| tiote] A4t Ae BOH A BS th33} 2ol A olst
|2 gt

AOB=A-3B, A®B=(A+B)B

P=2x3+2x’y +3xp2 =y, Q0 = x> + x>y + xy? o|=+ & ],

(P Q)® QE x yoll Wt tpaAl oz YJepfH?

e

D M +x° @ x*y? - xy° B x3y? — 0yt

@ x3y? + xy! ® 2x3y? — xy!



)

= a® + 2ab + b?

@ (a+b)?

=a? - 2ab + b?

@ (a-b)?

a? - b?

® (a+b)(a-D)

@ (a-b)(a®+ab+b*) =a® - b?

® (a+b)(a®—-ab+b?) =a®+b>



A 312 Z

[e]
&) 29

ik

i

A% vl

mlo
rst

4. =

IH

@ (x-y-1)*=x>+y*+1-2xy-2x~2y
@ (a+b)?*(a-b)?=a*-2a?b* + b*

® (—x+3)3 =x%-9x% +27x - 27

@ (a-b)(a®>+ab-b*) =a*-b*

® (p-D({P*+D(p*+1)=pt-1



@ 2x3 -18x-10
@ 2x3 +12x%2 +18x+ 10

B 2x3 —12x2 +18x + 10

AA A, vE AAB=2A+ B, AYB=A-3B

ot

@ 2x3-12x2-18x-10

@ 2x% 4+ 12x%2 4+ 18x— 10



(x+3
)(x+
2
) =(x+3)x+
(x+3
)x2

= (x2 +
3x) + (2x +
6)

X + +
(3x 2.x) +(;

$2
+5x+6

Eut
oA At

_—
J

B/

A

3¢l

—

,X_l

L,

__OH_
w
8

G
o
el

—

;&l
Gt

m
i
i~

Gl
o
E!

N
s

__OH
W

—

__A_l
i

jant
]

~
s
o
E
,X_l
s
jang

i
~8

L
__OH_

W



7 9] 2 AL
(a
+
b)
(a®
—ab
+
b2
)(a®
b3)
Z
47
H/l
e
oz g
Qo0
2 A2
©9

@®
a® +
b3
)
ab +
bﬁ
®
a8
—p8

@
a® +
b9
©)
a9 -
b9



8. a=2004, b =2001% W, a® - 3a%b + 3ab? - b 2] FF27?

@D 21 ® 23 ® 25 @ 27 ® 29



9. AAZ+Fabcol st a+b+c=2a>+b>+c? =6, abc = -1
A, a3 + b3 + 3 9] F2?

@D 11 @ 12 ® 13 @ 14 ® 15



10. x= V3+ V20l a= V3+1% W, a* a2 \?+3 O] ZLe F51H?

D 2—4«/5 ® 4+4\/§ ® 2\/?4—3
@ 2- 3 6 24+ V3

9 2



11.

R4x-1=09 ", x°-5x9 k&

D 2 ® 1 3 0



12. 99 x 101 x (1002 4 100 + 1) x (1002 = 100 4 1) AA5HH?

® 1008 -1 @ 100¢ +1 ® 100° -1

@ 1002 +1 ® 1



13. a+b+c=1, ab+bct+ca=1, abc =1L 0, a®+ b3+ 39 3t22

@® 3 @ -3 ®1 @ ®

Wl =
Q| =



14. o°] obd A<= x,y,z0l Wt x,y,z5 Holk oslt= 60]a, x,y,z

A o], 2(x +y+2) 9] g2 FoFH?

@D 6 ? 12 3 14 @ 16 B 18



15.

oA f(x) e BE AL xo digte] f(x® +1) = x* +5x2 + 38
WA S - 1) P AL

O xt+5x2+1 @ x*+x*-3 ® x*-b5x2+1

@ x*+x2+3 G 9339

=}



